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Note : (i) Answer all the five questions.

(ii) All the questions carry equal marks.

1.	 Answer any ten of the following : 	 10

Write the electronic configuration of the atom whose atomic number is 29.

Which is larger in size, out of the following ions ?

Ca2+ or Zn2+

Which of the following salts behaves as an acid in liquid NH 3 ?

NH4C1 or NaC!

Name the most and least electronegative elements in the periodic table.

Which of the following is a gas ?

BC13 or A/2 C/6

Which of the following is used as a cation exchanged ?

Silica gel, Zeolite, Silicones, Asbestos

Name the acid that converts a mixture of cyclohexanol and cyclohexanone to

adipic acid.

Name the strongest acid out of the following :

HOC10, HOC!, HOC/03 and HOC/02

(i)	 Arrange the following elements in order of increasing ionisation energy.

Li, Na, K, Rb and Cs.
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Among the following name the compound where C has got zero oxidation state.

CH4, CC/ 4, CH,, C/2 and CH3 Cl.

Which of the following is a low spin complex ?

[ Fe (NO2)6 ]4- or [ Fe (H20)6[3+

(I)	 Write the oxidation state and coordination number of Pt in the complex
[Pt (NH3)2 C121

Name the metal for which Van Arkel-de-Boer Process is used for purification.

Write the shape of XeF4 molecule.

(o)	 Name the isomer of hydrogen molecule in which both the nuclei spin in the same
direction.

	

2.	 (a)	 Why do alkaline earth metals form more complexes as compared to the alkali 	 2
metals ?

The first ionisation energy of Be is greater than that of Li, but the position is 	 2
reversed in case of second ionisation energy. Explain.

Why do Li compounds have more covalent character than K compounds ? 	 2

(d)	 Complete any two of the following reactions giving chemical equations : 	 2

CO2 is bubbled through lime water solution for a long time.

Combustion of diborane in free supply of 02.

(iii)	 Addition of hypo solution to iodine solution.

(e)	 Why do halides and hydride of Be polymerise ? 	 2

	

3.	 (a)	 CC/4 is not hydrolysed while SiC/4 and SnC/4 get hydrolysed easily. Explain.	 2

Why tin and lead compounds do not show pwr- d-rr- bonding ? 	 2

Why H2S is a stronger acid than H2O ?	 2

Why is carbon a preferred reducing agent in commercial metallurgy ? 	 2

Give the resonance structures of nitrate ion, 	 2
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4.	 (a) How is boron nitride obtained from borax ? Give the chemical equation. 	 2

Boric acid can be estimated by titration against a standard alkali solution in the 	 2
presence of glycerol, using phenolphthalein as an indicator. What is the function
of glycerol in the titration ?

Explain why transition metal ions form large number of complexes. 	 2

Halogens form various types of compounds with oxygen. Is it justified to call 	 2
them halides of oxygen. Give reasons for your answer.

Why can not fluorine be obtained by electrolysis of an aqueous solution of NaF ?	 2

	

5.	 (a) Write down the IUPAC name of any one of the following compounds : 	 1

[ Co (NH3) 5 (ONO)1C/2

[Pt (NH3 )4] [Pt C/6]

(b) Write the formula of any one of the following compound : 	 1

Hexaamminecobalt (III)chloride

Potassiumtrioxalatoferrate (III)

(c) Write short notes on any two of the following :	 4

Ionisation or linkage isomerism

Froth flotation process

(iii)	 Pseudohalogens

Why is the seperation of the lanthanides so difficult ? 	 2

Why are molten halides often used for preparing metals by electrolysis ?	 2
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